Täisnurkse kolmnurga lahendamine

Nurga mõõtmine
1. Arvuta.

1) 20( + 45(
Lahendus: 20( + 45( = 65(
2) 65( – 42(
Lahendus: 65( – 42( = 23(
3) 42( + 51(30´
Lahendus: 42( + 51(30´ = 93(30´
4) 90( – 38(44´
Lahendus: 90( – 38(44´ = 51(16´
5) 64(37´ + 18(11´
Lahendus: 64(37´ + 18(11´ = 82(48´
6) 72(29´ – 42(24´
Lahendus: 72(29´ – 42(24´ = 30(05´
7) 48(54´ + 46(21´
Lahendus: 48(54´ + 46(21´ = 95(15´
8) 56(45´ – 29(58´
Lahendus: 56(45´ – 29(58´ = 26(47´
2. Teisenda minutiteks.

1) 6(
Lahendus: 6( = 6 . 60´ = 360´
2) 12(28´
Lahendus: 12(28´ = 12 . 60´ + 28´ = 748´
3) 46(1´
Lahendus: 46(1´ = 46 . 60´ + 1´ = 2761´
4) 115(33´
Lahendus: 115(33´ = 115 . 60´ + 33´ = 6933´

3. Teisenda täiskraadideks ja -minutiteks.

1) 218´
Lahendus:
218´ = 218 : 60 = 3 (kraadi), jääk 38 (minutit);
218´ = 3(38´.
2) 4751´
Lahendus: 
4751´ = 4751 : 60 = 79 (kraadi), jääk 11 (minutit);
4751´ = 79(11´.
3) 82´
Lahendus: 
82´ = 82 : 60 = 1 (kraad), jääk 22 (minutit);
82´ = 1(22´.
4) 5560´
Lahendus: 
5560´ = 5560 : 60 = 92 (kraadi), jääk 40 (minutit);
5560´ = 92(40´.
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